oooooooogod

gooo

20060 100 050

oo

gobooooobooobooooboooobOoooboOooono

1 00
1.1 0000
1.1.1 00000

00000000000000 [deg) 0 [rad] O O
[rad] O [deglDOOOO

[0 11 30 [deg] [O 2] 135([deg]
[0 3] —210[deg] [0 4] % [rad]
[0 5] —2F [rad] [0 6] 27 [rad]

1.1.2 000000

goooobooboooooobooboboooooon

[0 17 sin (%) [0 27 sin (%)

[O 3] sin (g) [O 4] sin (%’T)

[O 5] sin (—%’T) [O 6] cos (%)

[0 77 cos (%) [O 8] cos (—%)

[0 9] tan (%) [0 10] tan (%)

[0 11] sin™" (=4) [0 12] cos™! (—3)
(0 13] tan~' (1) [0 14] tan~' (—V/3)

1.1.3 000000

=e*0O000O0O0O0OO

[0 5] f(z) =log(x) 00000000

1.2 0J000O00oodn

(O
(O

(O

(O
(O
(O
(O
(O

(O

1]
2]

3]

4]
5]
6]
7]
8]

9]

[0 10]

[0 11]

O000e000D0O0O0DOD
2000000

2710000 (approximation) O O
oo

2: 00000000
(e*)0000000

e*xef 000 (simplify) 0000
000 €8 =50000
y=e2t30 s =000000
log () 00O (reduction) 00O
log(ab) 000000

log () 000000



2 000000 (O3] f(z)=cosz
[0 1] sin®6+cos?f = 10000000 (04 fl@)=tanz
O (explain) 00 O [0 8] flz)=e"
[0 6] f(x)=Ilog|z|
[0 2] tan%6 — =-10000
cos? 6 [0 71 f(z)=sin(z?)
[03] 0000 (addition theorem) [0 8] B )
sinfa+4)0000 f(w) = arcsina
[0 4] 0000 cos(a+/) 0000 (O8] flz) = efcosw
01 — sin .
[0 5] cos(20) =2cos?0—10000 [010] f(w) = ™" cosa
[0 6] cos(20) =1—2sin?00 000
[0 7] sin(20) =2sinfcos 0000 4 000
(O8] ODOOOODO 4.1 00O
cosacosf3 = X
1 (011 000 f; f(z)de000O (difinition)
3 [cos(a + ) + cos(a — )] O0o000
[0D9] ODOOOO [0 2] fJ}’“”deDDD
cos A+ cos B = @) . i
(A 4 B) <A _ B) [0 3] 0000 (integration of parts) 0 O
2 cos cos 5 oo0oono
[0 4] OOOO (integration of substitu-
tion) 00 OOOOO
3 0o
3.1 U0 42 00000
(011 000 (derivative) f(z) O00ODO 000000 oo0oo
(difinition) 0 0 0 0 O
(011 [a"dx
[0 2] f(x)g(zx)00000000
[0 2] [sinzdz
(03 {Yoo0o000000
[0 3] [sin(az)dz
[0 4] f(x)g9(x)h(x)D00D0DOODO
[0 4] [coszdx
[058] f(g(x))0DOODOOO0
(0 5] [tanzdx
[0 6] [arcsinadx
3.2 0JUOOOOoO
(071 [eda
00000 f(x)0OO0OOOOOO [0 8] fazdx
[0 1] f(z)=2a" [0 9] [logl|z|d
[0 2] f(z)=sinz (0 10] [ =%




